










Find the triangle :-

(A) 24

(B) 22   

(C) 23

(D) 21





P$Q means “P is the father of Q”. (P, Q का पिता है)
P@Q means “P is the mother of Q”.(P, Q की मााँ है)
P#Q means “P is the son of Q”. (P, Q का िुत्र है)
P&Q means “P is the sister of Q”. (P, Q की बहन है)
P*Q means “P is the wife of Q”. (P, Q की ित्नी है)

Q.1 -Which of the statement means A is the father is law of D?
पनम्न में से कौन से कथनका अथथ है A, D का ससुर है?

(1) A*B#C$D@E
(2)A$C@E#D$B
(3)C@B#A$D*B
(4)D$A@B*D#E
(5)A@B@C&D*E



P$Q means “P is the father of Q”. (P, Q का पिता है)
P@Q means “P is the mother of Q”.(P, Q की मााँ है)
P#Q means “P is the son of Q”. (P, Q का िुत्र है)
P&Q means “P is the sister of Q”. (P, Q की बहन है)
P*Q means “P is the wife of Q”. (P, Q की ित्नी है)

Q.2 Which of the statement means C is the son in law of A?
पनम्न में से कौन से कथनका अथथ है C, A का दामाद है?

(1) A&B@C*D#E
(2)A*C@D&B@E
(3)A@B$C&D*E
(4) A$B@D#C$E 
(5) C&B@D&A*E



A#B means A is the father of B. (A, B का पिता है)

A%B means A is the sister of B. (A, B की बहन है)

A@B means A is the wife of B. (A, B की ित्नी है)

A*B means A is the brother of B. (A, B का भाई है)

A&B means A is the son of B. (A B का िुत्र है)

Q-6 Which of the following means A is the grandfather of R?
पनम्न में से पकसका अथथ है A,R का दादा है ? 

(1) F&A@J#K%R
(2) U*R%H&A%K
(3) A@H#J*U%R
(4) A@H#K*M#R
(5) A#B*C#R%H


